o SPECIFICATION SHEET
m0|ex T2 Terminator

\_/ 63850-7400

REVISION A
SCOPE
Terminal Series No Wire Size Insulation Diameter Strip Length
Awg (mm?) mm (in) mm (in)
50034-8%00 26-30 (0.12-0.05) | 0.80-1.40 | (.031-.055) 1.40-1.90 | (.055-.075)
DEFINITION OF TERMS
BRysy MOUTH
INSUATION

BEND UP

CUT-OFF I
TAB CONDUCTOR \ _____________
‘ X ROLLING

TWISTING

Y
BEND DOWN

CRIMP
HEIGHT

The above terminal drawing is a generic terminal representation. It is not an image of a terminal

listed in the scope

Doc. No. 638507400 - Rev A 99/11/02

Page 1 of 5
UNCONTROLLED COPY




SPECIFICATIONS

Terminal Series No. Bellmouth Cut-Off Tab Max. Conductor Brush
mm (in) mm (in) mm (in)
50034-8*00 0.05-0.30 (.002-.012) 0.20 (.008) 0.00-0.70 (.000-.028)
Terminal Series No. | Bend Up Bend Down | Twist Roll Punch Width mm
Degree Degree Conductor Insulation
50034-8*00 4 3 4 8 1.00 1.40

The above conditions are guidelines to an optimum crimp.

CONDITIONS

After crimping, the conductor profile should measure the following.
Terminal Series Wire Size Crimp Height Pull Force Min
Awg (mm?) mm (in) N (Ibs)
50034-8*00 26 (0.12) 0.57-0.62 (.022-.024) 19.6 4.4
50034-8*00 28 (0.08) 0.56-0.61 | (.022-.024) 9.8 22)
50034-8*00 30 (0.05) 0.53-0.58 (.021-.023) 49 (1.n

Pull Force measured with no influenice from the insulation crimp

(RIM

UNCONTROLLED COPY

Doc. No. 638507400 - Rev A 99/11/02



PARTS LIST

Item Number | Order Number | Eng Number Description Qty | Kit Part

1 634441003 634441003 Conductor Punch 1 Y
2 634451010 634451010 Conductor Anvil 1 Y
3 634461402 634461402 * Insulation Punch 1 Y
4 634451404 634451404 Insulation Anvil 1 Y
5 634430003 634430003 Cut-Off Plunger 1 Y
6 634430012 634430012 Front Plunger Retainer 1 Y
7 11-24-1067 4996-4 Cut-Off Plunger Spring 1

8 11-40-4039 8302-5 Front Plunger Striker 1

9 634430021 634430021 Lower Tooling Key 1

10 634436003 634436003 Rear Cover 1

11 11-18-4083 60707-8 Front Cover 1

12 634432402 634432402 Anvil Mount 1

13 634434025 634434025 Wire Stop 1

14 634430009 634430009 Scrap Chute 1

15 638008500 638008500 T2 Terminator 1
70 638507470 638507470 Tool Kit (All "Y" Items) 0

NOTES

1. We recommend an extra perishable tooling kit be maintained at your facility.

2. Verify tooling alignment by manually cycling the press and Terminator before crimping under
power.

3. Slugs , Terminals, Dirt and Oil should be kept clear of work area.

4. This Terminator should only be used in a Molex TM42, TM40, or 3BF Press with a BaseUnit
adaptor.

5. ** CAUTION** To prevent injury never operate this Terminator without the guarding
supplied with the TM42 , TM40, or 3BF Press / Base Unit.

6. Wear safety glasses at all times.

Page 3 of 5
UNCONTROLLED COPY

Doc. No. 638507400 - Rev A 99/11/02



ASSEMBLY DRAWING

The drawing below is a generic drawing representation. Some detail may not be shown.
The T2 Terminator assembly and parts list can be found in the T2 Terminator manual.

M4 X 10 LG.
B.H.C.S. (2)

*10-32 X 34 LG.
B.H.C.S. \W

3MM X 6 LG.
ROLL PIN

M4 X 20 LG.
S.H.C.S.

M4 X 50 LG. SH.L.S.
S.H.C.S.

Fage (Riy P

UNCONTROLLED COPY

Doc. No. 6383507400 - Rev A 99/11/02



Note

Depending on the press vintage a feed finger assembly is supplied with the T2 Terminator.
1. To remove the existing feed finger assembly loosen the M4 x 10 mm set screw in the feed lever.
2. Select T2 Feed finger assembly from Terminator box

3. Insert a screwdriver into to siot behind the feed lever and force the 12 mm spring to the right.

4. Slide the T2 feed finger shaft for TM42 (11-40-5307) or (11-40-0123) for TM40 /Base Unit into the feed lever
and to the left of the 12 mm spring.

5. Release the 12 mm spring.

6. Position feed finger for selected product. (Ref fig 5.1 T2 Manual)

TM42 Press

11-4G-5307
11-40-5255

11-40-0125 :
COTTER PIN S
/g X .0295 WN -

e
-
P

FEED FINGER ASSEMBLY
FOR PRESS *TM42

TMA40 Press & BaseUnit & Adaptor

11-40-0123
11-40-5255
11-40-0125 -
COTTER PN ,
/3" X .0295 WIRE <
v/’/
-
’ [
|

FEED FINGER ASSEMBLY
FOR PRESS *TM40

Page 5 of 5
UNCONTROLLED COPY

Doc. No. 638507400 - Rev A 99/11/02



X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Tool Kits & Cases category:
Click to view products by Molex manufacturer:

Other Similar products are found below :

217434-1 4263 1055420-1 11-18-3023 63860-8170 856600-2 690372163 11-40-3247 63883-28/0 63885-027/0 63866-1070 63863-5070
63892-7370 11-18-3209 63860-4070 63881-0970 A0403641 11-18-3040 63865-2070 63910-1470 63861-5070 63850-7470 11-18-3201
63910-7570 FM 0501 146 63883-0670 63830-0070 63902-9170 11-18-3147 11-18-3079 63883-2670 63900-1770 11-18-3190 63851-1070
63912-4770 63911-5270 63895-1070 63860-1470 63850-6070 1-69411-3 63852-9270 63802-6270 63902-4870 11-18-3202 63852-9170
63850-1070 63830-0170 63910-2870 11-18-3010 63820-7070



https://www.x-on.com.au/category/tools-supplies/tools/tool-kits-cases
https://www.x-on.com.au/manufacturer/molex
https://www.x-on.com.au/mpn/teconnectivity/2174341
https://www.x-on.com.au/mpn/tesa/4263
https://www.x-on.com.au/mpn/teconnectivity/10554201
https://www.x-on.com.au/mpn/molex/11183023
https://www.x-on.com.au/mpn/molex/638608170
https://www.x-on.com.au/mpn/teconnectivity/8566002
https://www.x-on.com.au/mpn/molex/690372163
https://www.x-on.com.au/mpn/molex/11403247
https://www.x-on.com.au/mpn/molex/638832870
https://www.x-on.com.au/mpn/molex/638850270
https://www.x-on.com.au/mpn/molex/638661070
https://www.x-on.com.au/mpn/molex/638635070
https://www.x-on.com.au/mpn/molex/638927370
https://www.x-on.com.au/mpn/molex/11183209
https://www.x-on.com.au/mpn/molex/638604070
https://www.x-on.com.au/mpn/molex/638810970
https://www.x-on.com.au/mpn/belden/a0403641
https://www.x-on.com.au/mpn/molex/11183040
https://www.x-on.com.au/mpn/molex/638652070
https://www.x-on.com.au/mpn/molex/639101470
https://www.x-on.com.au/mpn/molex/638615070
https://www.x-on.com.au/mpn/molex/638507470
https://www.x-on.com.au/mpn/molex/11183201
https://www.x-on.com.au/mpn/molex/639107570
https://www.x-on.com.au/mpn/amphenol/fm0501146
https://www.x-on.com.au/mpn/molex/638830670
https://www.x-on.com.au/mpn/molex/638300070
https://www.x-on.com.au/mpn/molex/639029170
https://www.x-on.com.au/mpn/molex/11183147
https://www.x-on.com.au/mpn/molex/11183079
https://www.x-on.com.au/mpn/molex/638832670
https://www.x-on.com.au/mpn/molex/639001770
https://www.x-on.com.au/mpn/molex/11183190
https://www.x-on.com.au/mpn/molex/638511070
https://www.x-on.com.au/mpn/molex/639124770
https://www.x-on.com.au/mpn/molex/639115270
https://www.x-on.com.au/mpn/molex/638951070
https://www.x-on.com.au/mpn/molex/638601470
https://www.x-on.com.au/mpn/molex/638506070
https://www.x-on.com.au/mpn/teconnectivity/1694113
https://www.x-on.com.au/mpn/molex/638529270
https://www.x-on.com.au/mpn/molex/638026270
https://www.x-on.com.au/mpn/molex/639024870
https://www.x-on.com.au/mpn/molex/11183202
https://www.x-on.com.au/mpn/molex/638529170
https://www.x-on.com.au/mpn/molex/638501070
https://www.x-on.com.au/mpn/molex/638300170
https://www.x-on.com.au/mpn/molex/639102870
https://www.x-on.com.au/mpn/molex/11183010
https://www.x-on.com.au/mpn/molex/638207070

